Quiz #2 (CSE4190.410)
September 25, 2013 (Wednesday)
1. (10 points) Consider three parallel planes:
;0 ar+by+cz+d;=0, (i=0,1,2).

(a) (1 points) What is the affine transformation from R? to R! that sends I, to d,
IT; to d;, and I, to dy?

(b) (1 points) What is the 1D translation that sends d, to 0, d; to d; = d, — dg, and
dg to (IZQ = d2 - d() ?

(¢) (7 points) What is the 1D perspective transformation that sends 0 to 0, d; to 1,
and dy to 27

(d) (1 point) What is the composite perspective transformation from R? to R! that
sends Il to 0, II; to 1, and II, to 27
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